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PAPER

1. The Scope of data collection depends on
(A) The objective

(B) Resources available

(C) Availability of time

(D) All the above

2. Bias in sampling arises due to

(A) faulty process of sample selection
(B) faulty work during data collection
(C) faulty methods of analysis

(D) All the above

3. In private surveys the rate of response can be
(A) 50 %

(B) 75 %

(C) <50 %

(D) Any of these
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4. What was the GDP growth predicted by CSO
for 2010-11?

(A) Below 7 %
(B) Between 8 % and 9 %
(C) Above 10 %

(D) None of these

5. Which Bank has the powers to write to the
Central Government for suspension of business
of banking company?

(A) Reserve Bank of India
(B) State Bank of India
(C) NABARD

(D) Bank of Maharashtra

6. In which way the quadrilateral is not read ?
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7. Who from amongst the following
revolutionaries were hanged for the murder of
Jackson, the collector of Nashik?

a. Anant Kanhere

b. Vinayak Deshpande
¢. Krishnaji Karve

d. Vinayak Apte
Options :

(A) Only a
(B)Onlyaandb
(C)Onlya,bandc

(D) Only a, b, cand d

8. Which of the following schemes was stared
for the medical check-up of the women below
poverty line ?

(A) Asha Scheme
(B) National Rural Heath Mission
(C) Janani Security Scheme

(D) Self-Power Scheme

9. Which State became the fastest Indian
growing state between 2006 and 2010 ?

(A) Rajsthan
(B) Utter Pradesh
(C) Bihar

(D) Uttarakhand
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10. Consider the following statement :

a. India is democratic republic, because the head
of the state is elected by the people.

b. India is a democratic republic, because there
is parliamentary supremacy

Which of the statements given above is/are
correct ?

(A) Only a
(B)Only b
(C)aandb

(D) None of these

11. Which of the following is an incorrect pair ?
(A) Television : TRP

(B) Newspaper : RAM

(C) Website : Hits

(D) Film : Box Office

12. Which of the following rights are “ Soul
& heart” of the Constitution according to Dr.
B.R. Ambedkar.

(A) Freedom of expression
(B) Right of equality
(C) Rights of the religious freedom

(D) Right to Constitutional Remedies
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13. Which out of these is a Quantitative data tool

(A) Survey
(B) In-depth interviews
(C) Focus group interviews

(D) Interview guide

14. A good hypothesis should be

(A) Specific and reliable with most known facts

(B) Formulated in such a way that it can be
tested by data

(C) Of limited scope and should not have global

significances
(D) All of these

15. Which of the following software is used to
process and analyses quantitative data?

(A) Quark Express
(B) SPSS
(C) Quant Chrome

(D) SSQN
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16. Which of the above is not Internet service
provider?

(A) MTNL
(B) BSNL
(C) RNET India

(D) InfoTech India Limited

17. Which word does NOT Belong with the
others

(A) Leopard
(B) Tiger
(C) Fox

(D) Lion

18. Which of the following marks will be
replaced by a question mark?

(A) 58
(B) 53
(C) 49

(D) 45
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Total Number of Boys and Girls in Various Colleges
Numberin Thousands

35

19. Which of the following is the average
number of girls form all the colleges?

(A) 25000
(B) 27500
(C) 27000

(D) 25500

20. The Total numbers of girls from the college
D and E together is how much percent of the
total number of girls from the college A,B, and
C together ?

(A) 83.3%
(B) 75%
(C) 70%

(D) 88%
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